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FORM 3 END OF TERM ONE MATHEMATICS EXAMINATION
ATTEMPT ALL QUESTIONS IN SECTION A AND ANY FIVE IN SECTION 8

SECTION A
1. Without using mathematical tables or calculators evaluate this, leaving your answer in
prime factor form. 4 1 L 3 > - (3mks)
(253x5)P 21 <K K i -
Y540 x 50 2 & % IxZ
L 3 3
L rBRS C P s
o2 q¥x xS
Frlo *G Se3RL
b 2 3 -
0 % B S LS —
; 2. Aliis eight times older than Musa who is thirty years younger than Juma. Five years ago -
( the sum of al their ages was ninety five years. Find the age of Ali xvhen Juma was born.
M - oC e = 4. (4mks)
= P ¥ S0 —/’:"
9(—'\";(' +§L’\’30 i< _.Ci‘r J;", ?
e =945 -85S | 3
* VP = Fo ——
i | |'D?(' - %0

3. The sum of the interior angles of two polygons is 1620°. Given than one polygon is one
side less than the other, find the number of sides each polygon has. (3mks)

@m -u)% ’f@(“")"’ 1o>0
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4. Given points P (-4, 2) and Q {6,-2), obtain the equation of the perpendicular bisector and

hence the coordinate of its Y intercept. ‘ [ (4mks)
“2-z ooy [pilo 5 szsﬁ
ﬁf—::tp —\_«5 76\ = ) ‘.,
C= ",szi 3= 2’(" 2 -
“y ) t..\-z,-\—z_) | o= 0O
— s =2 o '~S7
2 T
(. 0) |
5. Solve the equation. | | (2mks)
i 842%+3=35 :
s s 1320 = &4
2+2 =73 w4
> s
zlz2 /=% >
3-C ¢ -
” - X
il 3(3%)-28(3)49=0 A _ (3mks)
L%SJC:ZS- Zﬁ_i_- 0(57("‘;——
1 . o— o - =
53_ng+—ﬂ_0 jt—ol \
33 —21Fy-B+9=0 O '9(“;
| -$ly-gre S =%
b)u—q:» 3 ’ x = Z
Goyl-h)=o | 5% =
6. Find the integral values of X given that: (2mks)
| 6-0x<6x-1254x-2 e 5
)8 € {o>C o
‘0%2|g _ Z,j,V,S
—
b1 & Lot -2 |

220 & YD
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7. Acommercial bank buys and sells foreigﬁ exchange using the rates shown below;
Buying rate Selling rate

1US$  Ksh83.25 ksh 84.05

An American tourist arrived in the country with US $ 8175 and exchanged 80% of the
cash to local currency. While in the country, he spent ksh 443,595 and bought US $ with
the remaining amount. Determine the USA dollars he had as he left the country. (4mks)

i
1 SUY, s
cYo 9¢ gbo -
bsto< ¢3.25- 61?81703/
, glp-©
\LjL\MT 1 = |,)_7b'9"
| ) baS |
8. Solve for X in the equation: 0<X<360° / | (3mks)
Sin X= 0.8071 o o '
x—55- 9/ [2b.2
?

9. Simplify the expression. (3mks)
6X-10xy-24xy - ' : ;
36x-64xy’ gi(bc:"—-sbbj + 52ty Z‘ﬁ

x b75’”0‘x‘j~29 x(w*@b) L'h&wxﬂj
L 3=
x(sbot=b¥3) /u{»@(x—wa)ss@c-@)

*‘)..DLKZ}‘:I*&""::) =) 2’32 4 . szaB?j (;z.,-—qj)

o [b=+ $3) Qau'@‘ﬂj o boerey) Lbx-&Y)
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10. Calculate the amount earned when shs 5(‘1,000 is deposited for 1% years at 12%% p.a.
S, Pt RS RV ¥y _\ (-5 (3mks)
: Y &> _9‘») 2o (,l *L‘?:'—-‘é
1 Jv l._s"
= 1,275 (s
¥ osv,oov 9 bbza-1o
— | | SNY 22—
¢l 59, 375 —

11. Find the value of x in the equation | (3mks)
6'=15 ] = > =— ) .S
x\log b= LQ‘S\;
=X = kéﬁzr,l}:

X = V176
0-11€2
= -S>
12. Rationalize leaving your answer in surd form. (4mks)
1 1

VI7-2V8 V7 +2v5
U 29)-) (- 215
- ks |

Y r2s-1T +2/¢
- - 20
s
-3

—
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13. Solve the triangle below. Co (3mks)

P - ' E~ - 594
S.OZCNcm sanktb TS e
R / |

Sv6 L= £ Absrawh

— 2. €=
LgJ 3 822;)"\ {ﬁ)_zxgo bcm;‘ Sia R — él;ZJ?!'H:
1779 = 252 43552 — 59 FEY 2 sl = o be7h
1707 = -5 £38¢ <o F a= lo.
-012?553. cor 4_\&%1'; ’l'%;?? |

14. Given a=2.7°c and c=9.8° taken to the nearest 0.1°%, find the relative error in the
quotient a-+ c.

L : (3mks)
LTS 2.bs”
9.8 978

15. Solve 3x%*+x+4=0

X = “‘b?_‘ I’b"“_—»uac.

{3mks)
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16. Add the missing term to the expression _+2x +1 to make it a perfect square. (3mks)
b \™ |
2 ,

22—
2=
; .
[
| =9
ot 2ot
R
SECTIONB

17. Three business partners Joy, David and Johnny contributed shs 300,000, 500,000 and
200,000 respectively and bought a matatu. They agreed that one quarter of the profit
would be saved for emergencies each month, one fifth of the remainder would be used
for buying spare parts and repairs. The rest would be shared among the three partners
in the ratio of their contributions. During the last month of June, the matatu realized a
profit of shs 247,300
a. Calculate how much was saved for emergency that month. (2mks)

\ 24 30®
Al

Lhss |

//_*

b. How much was used for repairé and buying spare parts. (2mks)

yx % = 3
KT T 2

%,'o" 247 260
=3709¢)
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¢. How much did each of them realize thét month? (6mks)

gy GBSO T

}/47‘ \ & 2=
§7f(Q%BK¥)‘,7Q}“10
V@

| 97‘ lugég? ,Z_C(/ Wi b

J =

18. The distance between Nanyuki and Nakuru town is 260km. A bus departs from Nanyuki

at 10:55a.m heading to Nakuru at 60km/h. At 11:25a.m a lorry leaves Nakuru towards
Nanyuki at 55km/h. Determine:

a. How far from Nakuru the bus will he when the lorry starts the journey. (2mks)
e~ ;
2bhp-30
SNTER - = 230\
oy - N2y —_ T
b 55’)(.4‘1,1. . “—"
b. How far from Nanyuki the bus and the lorry will meet. (4mks) |
S~ 220w
B 2.5 = WS
| _
| T — Z.; O L-('.s
W¢§ ~ |
2+« Bbps 20
| 20y 30
= G > oV g W
%
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€. At what time will the bus meet the |o}w in 12hr clock system? (1mk)
\\. 25 V250N
2 _4:-———
/—:—
| %25

d. After meeting the bus, the lorry experiences a tire puncture that takes 45 minutes to
fix. Find the time difference between the arrival of the bus and the lorry to the

nearest minute. . ‘ (S < (3mks)
] v “ '(:-5 ("" A
Lo 15 N-2g
le 32 | 2bo | pvamn |
l@k«b 20¢n . -;:57—-" “ ﬁi
19. Points P, Q, R, and S are positions in a map Lvhose scale is 1:1,000,000. Q is 74km on a

bearing of 300° from P and point R is 110km on a bearing of 075° from Q. Given that SAs
46km south of P: _
a. Use scale drawing to represent the positions of P QR and S. fL_. {4mks)

] — /
, y
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b. Using the diagram in “a” above find the distance RS in kilometers and the bearing of
S fromR.

(3mks)
a
c. Determine the shortest distance in km between points Q and S. (2mks)
g 3x\0 B3k
- o
d. Find the distance on the map between points P and R. {1mk)
{5 )
é
20. Given that the equation of a quadratic curve y=x*+5x-3
a. (i) Complete the table below for the function y=x’+5x-3 for -6<x<1 {2mks)
X -6 -5 -4 -3 -2 -1 0 1
vy | @ |3 -7 - -9 [-F -2 13

M
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(ii) Draw the graph of y=x2+5x-3 for -6<x<1 (3mks)

b.  Use the graph to solve the functions;
(i)  x*5x-1=0 . (2mks)

(i)  x*+4x=3 ( (2mks)

> 3 7¢1+S’)C~‘~3

OS-— X
o>e=09
& ‘l)
=32
¢. Find the solution of xESx=3 graphically. (2mks)
D=t yyoc -2
O= 4 8sx -3
> = O
) oS
N 5' ¢

-_—
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1.2m and height 1.35m which is initially three fifth full of water.

40cm

A
y

- L

30cm

(i) Calculate the capacity of the bucket in litres.

A=
20 - é_p_t;'c, J/7<5\LLL Wix 90
Y P
208-
20 = LYO4) S5 2 ‘i_——— >
Sx.= 4yo SO 27+ _
>t~ 9o | - 2 20€-S
y}xévuxﬁégjf"-d 29 b b > S
; > “Novo
SLRE== et = 29. oby
— Sb, 272 -
(ii) The volume of water requure'a"m'ﬂl the tank in litres. I—
g .
v :)M\:A b (3 2. 03b
3 5 zo02b -
~5.09mMm p —
xS 09 -
st

21. The figure below shows a bucket of depth 30cm used to fill a cylindrica! tank of radlus




(iii) Calculate the number of buckets that must be drawn to fill the tank.

20_&\7’ _
249.0bk =

~To

-_

22. The following are masses of 25 studentJ in form 3 class; ‘
49 5t 50 60 55
Ay 56 5T 58 59

a) Using the classes 40-43, 44-47 .....
Prepare a frequency distribution table .

| Clay T )
%—U’ L(,s A”.g‘ 277 5

Wy 47 4s.s- 54& ) L. 0
-5 .o (255 ¢

sz ~S5 [s3.¢ 10 -
— S*- ¢ 13us
bo-~b3 [py. ¢ 2 [layz

[ E3=28¢yx = | 2bs.s
b) Estimate the median class.‘
bFs H( %)
475 ¥ 1
<
47.s 3L
Sv 7

(3mks)

(4mks)

(3mks)

_—— )
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c) Draw a histogram for the data. {3mks)

positions of the villages A/B
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(i) Find the distance and bearing of village A from C. (3cm)

9

£
v
<

-

(iii) A straight main road runs from village A to village C. Find the length of the shortest
path from village B to main road. . (2mks)

e —————————————
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